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Energy and power in circuits
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Problems 25.46, 47
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Chap. 26 Direct current circuits
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Electromotive force (emf)
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Kirchhoft’s rules
(Junction rule)

n

The sum of the currents at a junction is conserved. E i = 0

k=1

Kirchhott’s Loop Rule

The potential difference around a complete circuit loop must sum to zero.




Single-loop circuit
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Internal resistance
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Power, potential and emf
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Resistors 1in series
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Resistors in parallel
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Multiloop circuits
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Not an independent equation!



Solved problem 26.2
The Wheatstone bridge
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Voltmeter and ammeter




RC circuit

S A Charging a capacitor
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